
Algorithms Example Sheet 6: Further

Reading

Exercise 6.F.1 [Tarjan's o�ine LCA algorithm] (+) Attempt Problem 21.3 in CLRS.

Project 1 Read this wikipedia section and write an exposition for the O (log∗ n) amortised bound.
Note: If you are interested, the more accurate analysis can be found in this article and the upper bound
in CLRS section 21.4.
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https://en.wikipedia.org/wiki/Disjoint-set_data_structure#Proof_of_O(log*(n))_time_complexity_of_Union-Find
https://dl.acm.org/doi/pdf/10.1145/321879.321884

